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The point charge Q is at the center of a metal shell of inner radius R and outer radius 2R. 
The point P is inside the cavity very close to the inner surface of the metal shell. The 
point P' is at distance 3R from the center of the shell. The metal shell has zero net charge.  
(a) Find an expression for the surface charge densities on the inner and outer surfaces of 
the metal shell, in terms of Q and R.   
(b) When the metal shell is not there, the electric field at point P due to the charge Q is 
3N/C. What is the electric field at point P when the metal shell is there, in N/C? Justify 
your answer clearly. 
(c) What is the electric field at point P' (i) with and (ii) without the metal shell in place, in 
N/C? Justify your answer. 
(d) Assume the charge Q is moved from the center of the shell to another point inside the 
cavity. (i) Will the electric field at point P change? (ii) Will the inner surface charge 
density at any point on the inner surface change? If yes, describe how; (iii) Same for the 
outer surface charge density; (iv) Will the electric field at point P' change? Justify your 
answers. 
Problem 2  
 
 
 
 
 
 
 
The cylindrical shell in the figure has inner radius R and outer radius 2R,  and uniform 
volume charge density ρ, and length much much longer than 2R. 
(a) Find expressions for the electric field at distance r from the axis, far from the ends of 
the cylinder, for (i) r<R, (ii) R < r < 2R, (iii) 2R < r. 
(b) Make a qualitative plot of electric field versus r for 0<r<4R, indicating on the 
horizontal axis the values r=0, r=R and r=2R. 
(c) Defining the electric potential to be zero at the axis of the cylinder, find an expression 
for the electric potential in the regions 0 < r < R and R < r < 2R. Where the potential is 
non-zero, is it always positive, always negative, or both, depending on the value of r? 
(d) To bring a charge q from r=4R to r=3R  requires work W=5J. How much work (in J) 
is required to bring the charge from r=3R to r=2R? 
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The capacitor in the figure has C=1F and is initially charged with Q0=1C.  The resistor 
has R=100Ω.  At t=0 the switch S is closed. 
(a) Find the current through R immediately after the switch is closed, I(t=0+), in A. 
(b) Find the energy dissipated in the resistor during the first second after the switch is 
closed, in J, accurate to 5 decimal places at least. Compare your answer with 
[I(t=0+)]2Rx1s, and explain why it is similar or very different. 
(c) Find the total energy dissipated in the resistor after a long time has passed, in J. 
(d) Suppose before you close S you insert between the plates of the capacitor a dielectric 
of dielectric constant K=5. Find the answer for point (c) again. 
(e) If the answers to (c) and (d) were different, explain how to account for the difference 
in energy. Where did the extra energy go, or where did the extra energy come from? 
 
Problem 4  
The electric field in a region of space that extends 2m from the origin in all directions is 
given by 
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(a) Explain why this cannot be an electrostatic field (i.e. a field that is produced by static 
electric charges). 
(b) Assuming the magnetic field at point (0,0,0) is 0 at time t=0, find its magnitude at 
time t=1s, in T. 
(c) A square loop of wire of resistance R=2Ω  lies on the xy plane with vertices at points 
(0,0), (1m,0), (1m,1m), (0,1m). Find the current that circulates through that loop, in A.  
(d) Looked at from a point on the +z axis, does the current flow clockwise or 
counterclockwise? 
 
Problem 5    
 
Slanted view picture 
 
     loop 1                                  loop 2                                     I  
  
 
Side view picture 
              
       loop1        v                                                                                                  x axis 
                                                                        
                                                                       loop 2 
 



Circular loops 1 and 2 are on a plane perpendicular to the paper (side view picture).  
Loop 1 moves at uniform speed v along a line (dashed line) (x axis) that goes over loop 2 
very close to it , such that the center of loop 1 flies right over the center of loop 2. The 
radius of loop 2 is much larger than that of loop 1. A steady current I circulates in loop 2, 
going into the paper on the right side and out of the paper on the left side. 
(a) Make a qualitative plot of the flux of magnetic field through loop 1 as function of 
x=position of the center of loop 1. Put the center of loop 2 at x=0, and indicate on the x-
axis of the graph the positions of the edges of loop 2.  Use the convention positive flux = 
flux pointing up, negative flux= flux pointing down. 
(b) Make a qualitative plot of the current induced in loop 1 as a function of x, again 
indicating the position of the edges and center of loop 2. Use the convention: positive 
current = current in the same sense as in loop 2, negative current = current in the opposite 
sense as in loop 2. Correlate the points where the current is zero with features of the plot 
in (a). 
Hint: the magnetic field very close to a curved wire looks very similar to that of a straight 
wire. 
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A proton (mass=1.67x10-27kg, charge=-electron charge) moving in the x direction with 
speed v=10,000 m/s enters a region starting at x=0 where there is an electric field and a 
uniform magnetic field. The magnetic field points in the +z direction and has magnitude 
0.5G (1G=10-4T). The x-component of the E-field is uniform. The proton continues to 
move in a straight line in the x direction and comes to a stop at x=1m. 
(a) Find the electric field component in the z direction (with its sign) for all x. 
(b) Find the electric  field component in the y direction (with its sign) at x=0.  
(c) Find the electric  field component in the x direction (with its sign).  
(d) Find the angle that the electric field makes with the x-axis at x=0, in degrees. 
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The circuit on the figure, including the solenoid L, is made with Cu wire of cross section 
1mm2. The total length of wire used in the circuit, including the wire in the solenoid, is 
10m. The inductance of the solenoid is L=100mH. The resistivity of Cu is 1.68x10-8 Ωm. 
The battery has the polarity shown and no internal resistance. There is a small square 
loop of wire next to the long wire in the circuit. Assume the small square loop has 
negligible self-inductance and neglect any effect of the small loop on the circuit. 
At time t=0 the switch S is closed. 1second after S is closed, the current in the small 
square loop is measured to be 1µA.  
(a) Does the current in the small loop flow clockwise or counterclockwise? Explain. 
(b) Find (in µA) (i) the current in the small square loop 2 seconds after the switch S is 
closed, and (ii) immediately after the switch S is closed. Explain all steps and show all 
intermediate results clearly. 
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The capacitor in the figure has round plates of radius a=10cm. The charge in the capacitor 
plates is changing with time according to the equation 

! 

Q(t) =Q0
t
"

# 

$ 
% 
& 

' 
( 
m

  with Q0=1C, τ=1ms, and the exponent m=2. There are two small wire 

loops in the gap between the capacitor plates, labeled 1 and 2 in the figure. They are both 
in the plane of the paper,  loop 1 is centered right on the line that goes through the center 
of the capacitor plates, and loop 2 is vertically above it at distance 10cm, i.e. right at the 
edge of the capacitor plates. They have resistance R1=5Ω and R2=10Ω respectively, and 
both have area 1cm2. At time t=1s: 
(a) Will there be current flowing in loop 1? In loop 2? Explain why qualitatively, without 
doing any calculation.   
(b) Calculate the currents flowing in loop 1 and loop 2,  in µA, if any, at time t=1s. Show 
all steps in the calculation, name all laws that you use, and show all intermediate results. 
(c) Assume the exponent in the equation for Q(t) is m=1 instead of m=2, and answer 
question (a) above again. 
 
  
   


